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M = (=4 — 5+ E)
B X IR &F (A) 1,107,750 1,182,835 75,085
= ISV ES (B) 571,525 448,006 A 123,519
IRAE(A)+(B)=(C) 1,679,275 1,630,841 A 48,434
= 3 & A 1,328,200 1,314,461 A 13,739
2 X 4N & H 212,966 178,808 A 34,158
X B §t (D) 1,541,166 1,493,269 A 47,897
BEHELEC)—(D)=(E) 138,109 137,572 A 537
WA R & (F) 0 0 0
A8 & (G) 0 0 0
BAEE(F)—(G)=(H) 0 0 0
LEEMAE(E)+ (H) 138,109 137,572 A 537
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it E X ® (4 — 51 E)
g A &t (A) 991,468 795,026 A 196,442
MR & &4 8 (B) 0 8,700 8,700
M (A)—(B)= (C) 991,468 786,326 A 205,142
* H &t (D) 1,780,053 1,650,573 A 229,480
FAR#E(D)—(C)=(E) 788,585 2 764,247 A 24,338
Tt £ B B B 14,199,848 13,941,567 A 258,281
& il % B 670,169 863,649 193,480
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